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Note : Attempt all questions.
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Use of calculator is not permitted.
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Question No. 1 is in three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write true/
false are given. Each question carries 1 mark.
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Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks.
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Question Nos. 7 to 10 are very short answer type questions. Each
question carries 3 marks.
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Question Nos. 11 to 14 are short answer typc questions, Each
question has an internal choice. Each question carrics 4 marks.
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Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
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Question Nos. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.
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Part-(A) Choose and write the correct option :
() 2x+5TE3x—2HANE :

(31) x+3

(7)) 5x+3

() x-3

() 6x-3

The sumof 2x + 5and 3x -2 is :
(@) x+3
() 5x+3
(c) x-3

(d 6x-3
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(31 7
(@) 5
(7) -6
(3 6
The common difference of arithmetic progression 5, 11, 17,
23 - will be :
(a) 7
(h) 5
(c) -6
(d) 6
(itiy Ta=g (-3, 5) fFm =qutwr 4 gm ?
(37) wyw wgatn (7) fedra =gain
(@) T =gata (%) =g =gafa
In which quadrant, will the point (-3, 5) lie?
(«) First quadrant () Second quadrant
(¢) Third quadrant (d) Fourth quadrant
(iv) (1-sin0)F AR :
(37) cos20
() coscc?0
(F) cot?0
(3) sec?0
The valuc of (1 -sin%0) is :
(¢) cos?0
(b) cosec?0
(¢) cot?0
(d) sec?0
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If the interest calculation is done on half-yearly basis in the fixed
deposit account, then the annual rate should be taken :

(@) two times (b) three times

(¢) half (d) four times
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Part-(B) Fill in the blanks :
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ifa: b : c, then mean proportional willbe ___.
y-a1e1 F oo ferell foreg 1 91 —— T B |
The abscissa of any point on y-axisis ____
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If the radius of a circle is 10 cm, then its diameter will be

TIEY FEYS % T R0 —— BId © |

The corresponding angles of the similar polygonis .
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The indentity number given to each individual, institution or company

by the Income-tax Department is called ___.

@Wus-(¥) 99 / 379 faf@e
Part-(C) Write true / false :

(1)
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The sum of one odd number and one even number is always even
number,
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The solution of equation x2 - 7x = 0 is 0 and 7.

(iii) T ¥ F s fawvi w gemd 8 9 ¥

The number of space diagonals of a cube is 8.
(iv) cos30° =T HH %3 B
2

B3

The value of cos30° is ==,

(v) fen, g1 = 8 fawgaeil W ufosds st ¥
The chord intersects the circle at two points.
woT-@  4fE 9E9E p(x) = 263 — x2 — 4 B, T p(2) T4 p(0) T WA @ FHIfo |
If the polynomial p(x) = 2x3 — x2 — 4, then find the values of p(2) and p(0).

UgH-d A 14:35:: 16:x &, W x T 7H I HaQ |
If14 : 35 :: 16 : x, then find the value of x.

UoH-g~ | 3@l 5x + 6y — 7 =0 i FA 3R y- 3781 T e TN S<E0S FA HHeg |

Find the slope of the straight line 5x + 6y —7 = 0 and intercept cut on the

y-axis.

yod-9 HH FE HI9Y

2tan 67°
cot23°

+tan45°

Find the value of
2tan67°
cot23°

+tan 45°

Uyi-6 s 3,6,9,12, 15, 18, 21, 24 Tl VAT W1EA T i |

Find the arithmetic mean of the following data :
3,6,9,12,15,18,21, 24

T P.T.O.
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Construct a quadratic equation whose roots are 7 and 4.

goit 9 + 12+15+1s+-----%16wﬁmmmaﬂﬁm

Find the sum of 16 terms of the series 9 + 12 + 15 + 18 + -~ 3

AfE T SIe 1 AR 10 W o S 7 e, %, 0 AT =1 3T T )

If the diameter of a cylinder is 10 cm and its height is 7 cm, then find the
volume of the cylinder.

s =g T forgf <) samma foram semetl =1 9m, 4 =1 P S ¥

Prove that the sum of any two successive odd numbers is a multiple of 4.
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Find the equation of the straight line whose slope is 132 and passes through
the point (0, 5).

arerar
OR
TAYF 300 $9 | 5 v aifs I FI XA FRI: 1, 2, 3, 4 TAM S T F
o grare =1 fare |fiol o wefidfa € .
99 (a9 F) o | 1 |2]13]|4] 5
Turn s (R E) | 0 [ 15[ 30| 45| 60 | 75
AT T YR TS & 8" AE iy |

The simple interests on principal ¥ 300 at the rate of 5% per annum for
1,2, 3,4 and 5 years respectively are shown in the following table :

~ Time (in year) 0 1 2 3 4 5
Simple Interest (in Rs.) | 0 15130 |45 60 | 75

Draw a graph between time and simple interest.

S-2-B
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In figure, O is
3 c i
entre of a circle and PQ is a chord. If ZPRQ =50 th
= 509, then

find the value of ZOPQ.

f\—/g

3rerar
OR

ABC U v ¥, fod 4D L BC, Tag wifse %
AB%+ CD*=BD* + AC?

ABC is a triangle, in which AD L BC, prove that
AB2 + CD?=BD? + AC*

ugA-13 £ TRl T Sger 6 g :

= 0-10 |10-20{20-30 [ 30-40 40-50 | 5060
amafd 9 17 | 28 | 23 15 8
Find the mode of the following table
Class 0-10 |10-20]20-30 | 30-40 40-50 | 50-60
Interval
Frequency 9 17 28 23 15 8
P.T.O.
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ami=r | 0-10 [10-20]20-30 | 30-40 [ 40-50 | 50-60
agfa 4 6 10 7 3 2

Find the median of the following table :

Class | o 10 [10-20|20-30 | 30-40 | 40-50 | 50-60
Interval

Frequency 4 6

10 /. 3 2

Uv-14 s T v 3 ST AT 14 A, 71 S 24 WA, R, O 9iF 1 HL TS

T %S a1 STFA 4 BN |
If the diameter of base of a cone is 14 cm and height is 24 cm, then find

the whole surface area and volume of the cone.
FHeaqr
OR
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If the diameter of a sphere is 12 cm, then find the surface area and volume

of the sphere.
W%#ﬁ%ﬁﬂ@ﬂmﬁaﬁsﬁ%mmﬁmwmtﬁ

T ) T 6% A 1, A 5 7Y uverd S§ e i g g ?

Mohan opened a recurring deposit account in Bank for 5 years and
deposited T 100 every month. If the rate of interest is 6% per annum, then

how much amount will he get after 5 years?

arerar

OR
3 Fw F gty o F w9 F 40,000 T 1 79 F g 10% AftE == B
= Y 5 fFan | aft =S oA Saitd g 8, @ yRyeaar % gvEE 9 6
fera v wra g ?
Ram deposited T 40,000 in Bank in fixed deposit account for 1 year at the

rate of interest as 10% per annum. If the interest is calculated for six month,
then how much amount will Ram receive after maturity?
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Construct the circumcircle of a AABC in which B#C = 6 cm, Z8 =10 and

AB = 5 cm. Write steps of construction also,

AHaqar
OR

uF T pOR ® T wifae) ma ) wF s 48C fava w @ Fifa,

o 2 "
fWAB=‘§PQ L1l

Construct a triangle POR. Also construct a triangle ABC in which

AB=§PQ.

UR~-17 Y a:b=c:d®, @ fag sifae fr
a1+c2 =ac
b +d* bd

Ifa:b=c:d,then prove that

a®+c¢?  ac

b +d® bd
arerar
OR
g =t 5@ Sty (3mera fafy gr)

4x - 5y =20 3R 3x + 5y =15

Solve the equation (by graphical method) :
4x - Sy=20and 3x + 5y =15

S-Z"B PqT-Oo
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sin6 % 1+ cos@

. = 2cosecO
1+cosO sin©

Prove that
sin® i 1+ cosO

1+cosB sin©

= 2cosecHO

3rerar
OR
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The angle of elevation of the top of a tower from a point on a ground level
is 30°. If on walking 20 metres towards the tower the angle of elevation of
the top becomes 45°, then find the height of the tower.
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